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Useful Guidelines:
* Quadratic Function: f(x)=ax’ +bx+c, (a #0), where a, b and ¢ are real numbers. Yo,
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* The vertex of the graph of f(xX)=ax® +bx+ec, (a # 0) has coordinates (x, y) =(_—b f (;—bD /Vo /}‘M
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* The axis of symmetry of the parabola has equation x = ;—b .
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* To graph a quadratic function: ] : (‘\ \,) AN
Step 1: Determine whether the parabola opens up or down.
Step 2: Find the vertex.
Step 3: Find the x-intercepts (if any) and y-intercept.

Step 4: Plot the graph. [Find additional points as needed.] ONLD G720
Graph each parabola, Give th»e vertex, axis, domain, and range. ( 5)
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fier  hour, the height of ¥he rocket ISZiVET by STT=—37 +64¢. Find the time

required in hours for the rocket to reach maximum height, and find the maximum height in kilometers.
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3. The monthly total revenue for a beverage is ggzn by R(x) = 4000x — 0.1x> dollars, where x is the number of
X .

units sold. X = Mo of wd oed Jz 4oray Zewenwe A= -O ~
a) To maximize the monthly revenue, how man its must be sold? o= Hl0QD
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b) What is the maximum possible monthly revenue?
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